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7583% LotNo © AE0909N (2016-01-01 ~ 2100-12-31)  Change
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A EAS B .
_ I#BRWfr:Labol4 |
| Control N Control D
QC Control Lot No. | AE0909N AE0909D
BRI Month CUM Month CUM
IR (2019/11) (2019/08/27~2019/11/30) (2019/11) (2019/08/27~2019/11/30)
] ZEHERE (N) 9 ] 26 9 ] 26
| Z:FPS(E (Mean) U/gHb 144 | 14.6 57 | 5.7
! ZEHEERE (SD) 05 | 0.4 02 | 02
] FEERAB(CY) % 35 | 2.7 35 | 3.5
] EI 12 (Target) U/gHb 144 | 14.4 58 | 5.8
] YAEZE (TE) % 69 | 6.9 87 | 8.7
| AIAEFAEERFE (TEa) % 20 | 20 20 | 20
] o 57 | >6 52| 52
275 (Bias)% = { [ | ZEFFH(E (Mean) - HE{ (Target) |1/ B (Target) } x 100%
4=57= (TE, Total Error)% = g57= (Bias)% + 2 x EEHEEAE (CV)
o (Sigma) = (TEa% - 372 (Bias)%) / Bat8F(4H (CV)
H&gst © 2019 11 Change ; ZEHHARI(CUM): 5 2019 08 27 & 2019 11 30 Change
[TOP]
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Lot No.: AE0909N ; fHARE : 2019-08-27 & 2019-11-30 ; HAZ(H (Target) : 14.4 ; 25T 4E= (SD) : 0.4
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Lot No.: AE0909D ; #&B&HAR © 2019-08-27 % 2019-11-30 ; HZ{E (Target) : 5.8 ; & fZ#5= (SD) : 0.2
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Control N £z Control D SDI
gaxiitl

Lot No.: AE0909N ; f@HAR : 2019-08-27 & 2019-11-30 ; HAZ(H (Target) : 14.4 ; 25T %E= (SD): 0.4 (o)

Lot No.: AE0909D ; f&:5aHART © 2019-08-27 % 2019-11-30 ; HAZE (Target) : 5.8 ; SB35 (SD): 0.2 (o) Ffir : Lab014
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B4zt @ 2019 11 cChange ; ZEHHARI (CUM) : B 2019 08 27 % 2019 11 30 Change
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=R B GOPD EERER WHlmERETER (HER—)

5 LotNo : |AEO909N (2016-01-01 ~ 2100-12-31) v| Change |

112 Reagent Kit : |3 - Innovation v| Change ‘

BIENMBE—
H%tatR
gzt At + [2019 v[[11 v]
| | | Control N (Lot No.: AE0909N) (il Control D (Lot No.: AE0909D) |
Reagent
_ Ki Target | Mean || n for CV| TE|[TEa Target | Mean | n for CV| TE ||TEa
UnitioLE] (C dl (U/gHb)(|(U/gHb)|[Mean||™" [|(%)|[(%)|| (%) (U/gHb)||(U/gHb)|[Mean||>~|(%)||(%)|| (%)
0deC )=
[Labo14 || 3 | 144 | 144 | 9 Jos|[3:5][6of 2057 58 | 57 ] 9 Jo2][3:5][8.7][20]52]
[Tom [ - [ - [ taa o Jos3s[[-J0--0C - 57 9 Joazsi[- - -]

272 (Bias)% = { [ | BEHPHHME (Mean) - HE{E (Target) | ]/ BEE (Target) } x 100%
K== (TE, Total Error)% = 5235 (Bias)% + 2 x BEFEERAE (CV)
o (Sigma) = (TEa% - #i72 (Bias)%) / ReMEEHE (CV)
[TOP]

RaT#etR

BEEHARS ¢ g [2016 v|[02 v|[01 v|Z[2019 v|[ 11 v|[30 V|| Change

| | | Control N (Lot No.: AE0909N) (i Control D (Lot No.: AE0909D) |
Reagent
) Kit Target | Mean || n for D CV| TE ||TEa Target | Mean | n for D CV| TE ||TEa
UnitID (U/gHb)||(U/gHb)|[Mean||> || (%) || (%[ (%) (U/gHb)|[(U/gHb)|[Mean|> || (%) || (%) ||(%)
(Code)

[Laboo4 | 3 [ 144 ] 144 | 20 Jo3|[2.1][42][20]>6][][ 5.8 ] 5.6 ][ 20 Jo.2][3.6][10.6][ 20 ]4.6]

[Labo13 [ 3 | 145 ][ 142 [ 86 Jo3[2.1][e.3][20]>6][ 5.7 ][ 55 | 86 Jjo-2|[3.6][t0.8][20][4.6]
[Laboi4 |3 [ 144 ] 148 168 Jo3]2.0] 6.8][20][>6][][ 5.8 ] 5.7 ][ 168 Jo2][3-5][8.7][20][5.2]
[Labote | 3 [ 144 ] 140 [ 65 Jp4t7a37a][20 ][Lo][][ 5.8 ][ 63 ][ 65 |2.4]38-1][s4.8][ 20 ][0.3]
[Labo44 || 3 | 144 | 153 J125]o.g[3.9]14.1[20 3.3 5.8 ] 5.8 ][125]o2][3.4]6.9] 20 |5.9]

[ Towl [ - [ - 147 Jaeafuafzsif- [- - - I s8 [4e4foouss[ - J[- -]

EE (Bias)% = { [ | BEFFH9ME (Mean) - HFE{H (Target) | 1/ EZ{E (Target) } x 100%
HEEF= (TE, Total Error)% = %= (Bias)% + 2 x BRETEE(RE (CV)
o (Sigma) = (TEa% - gR7= (Bias)%) / RatERAE (CV)
[TOP]
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HiebaEElr GOPD EEMER WEl B4

JEHE LotNo : [AEO909N (2016-01-01 ~ 2100-12-31) | Change |

R (R

312 Reagent Kit : |3- Innovation v|| Change |
Control N 45T BEt4tat 2 th
3
Control N (Lot No.: AE0909N)
Month (2019/11) CUM (2016/02/01~2019/11/30)

Uni m Reagent Kit Target | Mean | nfor SD CV|| TE || TEa - Target || Mean || n for D CV || TE | TEa -
nit[D (Code (U/gHDb) || (U/gHDb) || Mean (%) |[(%)|[ (%) (U/gHb) || (U/gHb) || Mean (%) || (%) || (%)
Lab004 3 14.4 - 0 - - -1 20| - 14.4 14.4 20 [10.3][ 2.1 || 4.2 | 20 |[>6
Lab013 3 145 - o |[-1[-1-1l2]- 145 142 || 86 J[03][ 2163 20 |[>6
Lab014 3 14.4 14.4 9 Jl0.5][3.5]6.9] 20 5.7 14.4 14.8 168 /0.3 2.0 || 6.8 || 20 ||>6
Lab016 3 14.4 - o I[-1 - -1 20| - 14.4 14.0 65 ||2.4][17.1](37.1]| 20 |[1.0
Lab044 3 14.4 - o |[-1 - -1 20| - 14.4 15.3 125 0.6 3.9 ||14.1 20 ||3.5
Total - - 14.4 9 |0.5([3.5] - - - - 14.7 464 (1.1} 7.5 || - - -

2 (Bias)% = { [ | REFPISME (Mean) - B (Target) | ]/ BEHE (Target) } x 100%

#EER= (TE, Total Error)% = §RZE (Bias)% + 2 x RETERMAE (CV)
o (Sigma) = (TEa% - g2z= (Bias)%) / Rt ERAR (CV)

Azt : [2019 V][11 V] Change |  ZHHAR (CUM) : & [2016 V[[02 v][01 V] % [2019 v[[11 v][30 V]| Change
[TOP]
Control D H&tTEL Bet&tat 2 th
R
Control D (Lot No.: AE0909D)
Month (2019/11) CUM (2016/02/01~2019/11/30)

Uni E Reagent Kit Target | Mean | nfor SD CV|| TE || TEa - Target || Mean || n for D CV || TE | TEa -
nitID! (Code) (U/gHb) || (U/gHb) | Mean || > ||(%) || %) || (%) (U/gHb) || (U/gHb) || Mean @) || %) || %)
Lab004 3 5.8 - o |[-1- -1 20| - 5.8 5.6 20 [10.2][ 3.6 |[10.6]| 20 ||4.6
Lab013 3 5.7 - o [-1-1-121- 57 55 86 [0.2] 3.6 |[10.8][ 20 [[4.6
Lab014 3 5.8 5.7 9 [o.2][3.5][8.7] 20 |[5.2 5.8 5.7 168 ||0.2 3.5 8.7 || 20 ||5.2
Lab016 3 5.8 - o |[-1 - -1 20| - 5.8 6.3 65 |[2.4][38.1(/84.8|f 20 ||0.3
Lab044 3 5.8 - 0 - - - 20| - 5.8 5.8 125 ([0.2{ 3.4 {| 6.9 || 20 ||5.9
Total - - 5.7 9 |[0.2]|3.5| - - - - 5.8 464 10.9]15.5] - - -

2 (Bias)% = { [ | REFPISME (Mean) - B (Target) | ]/ BEHE (Target) } x 100%

#EEA7= (TE, Total Error)% = §RZE (Bias)% + 2 x RETERMAE (CV)
o (Sigma) = (TEa% - 387 (Bias)%) / RatEERAE (CV)

Rt : (2019 v][11 v|

v||30 v|| Change |

[Change | R (cuM) : & [2016 V] [0z v][o1 ] 5 [2010 V][
Reagent Kit Rg:)%::t
Innovation 3

[TOP]
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